CheckPoint 2

2) An mmfmitely long charged rod has uniformn charge density of &, and passes through a cylinder (gray). The cylinder
in case 2 has twice the cross sectional area and half the length compared to the cylinder i case 1.

Definition of Flux:
O = j E.dA

surface
L
E constant on barrel of cylinder
E perpendicular to barrel surface
(E parallel to dA)
O=E [dA
barrel Case 1 Case 2
= EAbarrel d, =20, O, =D, ®,=1/20, nhone
(A) ) 9 (D)
RESULT: GAUSS’ LAW
Casel Case 2 ® proportional to charge enclosed !
Avarre = 2751 A, =(27(2s))L/2=275L A(L/2)
g S
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